COUNTY OF ERIE DEPARTMENT OF ENVIRONMENT & PLANNING DIVISION OF SEWERAGE MANAGEMENT * * MEMORANDUM * *

TO:

Mutasem Salah, P.E., Secretary - ECSD No. 1 Board of Managers

FROM:

Nadine R. Wetzel, P.E., Sanitary Engineer

DATE:

April 15, 2024

RE:

Electric Ave. and Casimer St. Sanitary Sewer Replacement Project

Contract No. 46

ECSD No. 1 Board of Managers Recommendation for Approval

Bids were opened for Erie County Sewer District (ECSD) No. 1, Contract No. 46, Electric Ave. and Casimer St. Replacement Project on April 2, 2024. Five (5) bids were received. Three (3) of the bids was determined to be non-responsive due to Local Law requirements missing at bid; therefore, only two (2) bids could be considered for Contract No. 46. The total cost submitted by the low bidder, Visone Construction, Inc. was \$200,112.45. This is below the Engineer's Estimate of \$245,793.00. The second lowest bid was \$239,713.65; therefore, the lowest bid is considered competitive for the work specified. The bid tabulations, Engineer's estimate and Engineer's recommendation are enclosed.

The Division of Sewerage Management (DSM) has reviewed the bid and believe it is fair. The bid package was complete and properly filled out. Visone Construction, Inc. has submitted a responsive bid. The contractor has been recognized as a responsible company and has successfully completed projects of this scale for the DSM in the past. The County's EEO office is currently reviewing the proposed M/WBE and SDVOB Utilization Plan. The Erie County Department of Environment and Planning recommends the award of Contract No. 46 to the aforementioned lowest responsible bidder. The funding source would be through the ECSD No. 1 Capital Bond Account C.00057.

The DSM would like to have this item considered by the ECSD No. 1 Board of Managers at the next Board meeting which is scheduled for April 19, 2024. For your use, I have enclosed a resolution for formal recommendation of the award of Contract No. 46.

Encl.

Cc: G. Pecak/ J. Desjardins/1.3.3.46

RESOLUTION ERIE COUNTY SEWER DISTRICT NO. 1 BOARD OF MANAGERS

WHEREAS, the Eric County Department of Environment and Planning has received the following lowest responsible bid for the Eric County Sewer District No. 1, Electric Ave. and Casimer St. Sanitary Sewer Replacement, Contract No. 46 at 10:00 a.m. on April 2, 2024:

Contract	Lowest Respons	<u>Amount</u>			
Contract No. 46	Visone Constru 79 Sheldon Ave Depew, NY 140	\$200,112.45			
WHEREAS, the Enaward of Contract No. 46 to		ent of Environment and P ed lowest responsible bidd			
NOW, THEREFORE BE	T				
RESOLVED, that the Electric Ave. and Casin follows:		District No. 1 Board of Mower Replacement, Contrac			
Contract	Lowest Respons	Lowest Responsible Bidder			
Contract No. 46	79 Sheldon Ave	Visone Construction, Inc. 79 Sheldon Avenue Depew, NY 14043			
MOVED BY: SECONDED BY: APPROVED/DISAPPROVED/D	VED:	Respectfully submitted,			
		Respectivity submitted,			
		Mutasem Salah, P.E.	of Managars		
		Secretary to the Board	of ivianagers		

Erie County Sewer District No. 1

COUNTY OF ERIE DEPARTMENT OF ENVIRONMENT & PLANNING DIVISION OF SEWERAGE MANAGEMENT

FROM: Nadine R. Wetzel, P.E., Sanitary Engineer NRW

TO: Joseph Fiegl, P.E., BCEE, Deputy Commissioner

DATE: April 15, 2024

2 4 2

RE: Erie County Sewer District No. 1, Contract No. 46

Electric Ave and Casimer St Sanitary Sewer Replacement Project

Contract Award to Visone Construction, Inc.

Engineer Recommendation

Bids were opened for Erie County Sewer District (ECSD) No. 1, Contract No. 46, Electric Ave and Casimer St Sanitary Sewer Replacement Project on April 2, 2024. Five (5) bids were received. Three (3) of the bids were determined to be non-responsive due to local law requirements missing at bid, therefore, only two (2) bids could be considered for Contract No. 46. The bid tabulations are enclosed. The total cost submitted by the low bidder, Visone Construction, Inc. was \$200,112.45. This is below the Engineer's Estimate of \$245,793.00. The second lowest bid was \$239,713.65; therefore, the lowest bid is considered competitive for the work specified.

The Division of Sewerage Management (DSM) has reviewed the bid. The bid package was complete and properly filled out. Visone Construction, Inc. is experienced in the type of work specified for this project. They have successfully completed projects of this scale for the DSM in the past. Visone Construction, Inc. is recognized as a responsible company and capable of being able to provide the necessary manpower and equipment for this contract. The County's EEO office is currently reviewing the proposed M/WBE and SDVOB Utilization Plan.

Per Local Law No. 2 (2021), the ten (10) calendar day period for receipt of public comments pertaining to bidder responsibility has elapsed and no comments have been received by the Commissioner.

It is recommended that the Contract be awarded to Visone Construction, Inc., Inc. at a total bid of \$200,112.45.

(enc.)

CC: G. Pecak/W. Lardo/ J.Desjardins/1.3.3.46

S. Canestrari/W. Strzesynski/P. Breier

DIVISION (ECSD No. 1 CONTRAC' Electric Ave FILE NO. 1.	T No. 46 e and Casimer St Sanitary Sewer Replacement .3.3.46 April 2, 2024- 10:00 AM	G		ENGINEER'S ESTIMATE	\$245,793.00	BIDDER # 1 Visone Constructio 79 Sheldon Ave Depew NY 14064		PM Pavement Inc 8905 Lapp Rd. Clarence Center N	\$239,713.65 Y 14032 BID BOND: 5%
ITEM NO.	DESCRIPTION	UNIT	BID QUANTITY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	8" Dia. Sewer Pipe Install	LF	329	\$235.00	\$77,315.00	\$162.84	\$53,574.36	\$129.00	\$42,441.00
2A	Install / Replace Standard Manhole	EA	2	\$12,100.00	\$24,200.00	\$8,074.73	\$16,149.46	\$9,438.50	\$18,877.00
2B	Install End of line Clean-Out	EA	1	\$1,100.00	\$1,100.00	\$984.40	\$984.40	\$2,230.00	\$2,230.00
3A	Reconnect Lateral and Install Cleanout	EA	5	\$1,900.00	\$9,500.00	\$748.65	\$3,743.25	\$530.00	\$2,650.00
3B	Install/Replace Sanitary Lateral Pipe	LF	70	\$175.00	\$12,250.00	\$206.85	\$14,479.50	\$173.00	\$12,110.00
4	Select Material Backfill	CY	171	\$56.00	\$9,576.00	\$40.25	\$6,882.75	\$68.15	\$11,653.65
5	Trench Pavement Restoration	SF	1780	\$24.00	\$42,720.00	\$17.25	\$30,705.00	\$22.00	\$39,160.00
6	Concrete Encasement	CY	16	\$500.00	\$8,000.00	\$272.33	\$4,357.28	\$472.00	\$7,552.00
7	Test Pit Excavations	EA	2	\$700.00	\$1,400.00	\$862.50	\$1,725.00	\$3,029.00	\$6,058.00
8	Driveway Restoration	SF	300	\$18.00	\$5,400.00	\$11.50	\$3,450.00	\$30.00	\$9,000.00
Unit Price Total					\$191,461.00		\$136,051.00		\$151,731.65
9	Maintenance and Protection of Traffic	LS	1	\$1,500.00	\$1,500.00	\$15,542.25	\$15,542.25	\$12,046.00	\$12,046.00
10	Sanitary Sewer Flow Maintenance	LS	1	\$2,500.00	\$2,500.00	\$2,946.30	\$2,946.30	\$15,637.00	\$15,637.00
11	Abandonment of Existing Sewer and Manholes	LS	1	\$4,071.00	\$4,071.00	\$2,950.90	\$2,950.90	\$10,919.00	\$10,919.00
12	Restoration	LS	1	\$6,261.00	\$6,261.00	\$2,622.00	\$2,622.00	\$9,380.00	\$9,380.00
	Lump Sum Total				\$14,332.00		\$24,061.45		\$47,982.00
Contingency	CONTINGENT ITEMS	LS	1	\$40,000.00	\$40,000.00	1	\$40,000.00	1	\$40,000.00
	CONTRACT TOTAL				\$245,793.00		\$200,112.45		\$239,713.65

Numerical addition error in total of lump sum bid items, not impacting contract bid total.